
Lp 𝒍𝟏 𝒍𝟑 𝒍𝟑 − 𝒍𝟏 λsr±u(λsr) T±u(T) vT±u(vT) f±u(f) T 𝒇𝒈𝒆𝒏 

[-] [cm] [cm] [cm] [m] [K] [m/s] [Hz] [ 𝐂𝐎 ] [Hz] 

1 9.5 59.4      

25 700 

2 10.7 60.2      

3 10.2 58.5      

4 11.0 60      

5 9.5 59.1      

6 9.8 59.6      

7 9.7 59.2      

8 10.3 59.5      

9 9.5 58.8      

10 10.0 58.5      

 

Lp 𝒍𝟏 𝒍𝟑 𝒍𝟑 − 𝒍𝟏 λsr±u(λsr) T±u(T) vT±u(vT) f±u(f) T 𝒇𝒈𝒆𝒏 

[-] [cm] [cm] [cm] [m] [K] [m/s] [Hz] [ 𝐂𝐎 ] [Hz] 

1 5.5 37.0      

25 1100 

2 6.5 37.2      

3 6.2 37.4      

4 5.5 36.5      

5 5.8 37.5      

6 5.4 36.3      

7 5.5 36.0      

8 5.5 36.5      

9 6.1 36.5      

10 5.5 36.2      

 


